Problem 3:  Spreadsheet generation and display of incident plus reflected wave
Download the spreadsheet SumWaves2.xls.  It is an Excel spreadsheet and can be used for repetitive calculations, as learned in Phys 174 and 275.   

The spreadsheet has 7 columns, the first is already filled with a set of equal position intervals, and the second is filled with the wave y(x,t), evaluated at t=0, where:


  y(x,t) = (0.35m)cos(3x-10t)

a)  The wave is reflected at a fixed boundary at x=4/3 m.   Find the equation of the reflected wave and calculate its displacement vs. position at t=0 as wave2.  Sum waves 1 and wave 2 and make a graph (carefully and clearly labeled) of wave1, wave2 and sumwave1 vs. position on the same set of axes.  Print the graph.

b)  Find the period T of the wave, and repeat the calculation of part a) for waves 3 and 4 at t = T/100.  Print the graph of this set of waves.

c)  Now increment the value of time in cell E2 to T/10, T/8 and then keep going up in steps of T/8 through T.  Print the graphs for t=5T/8, 3T/4, and 7T/8.

Turn in the (total of 5) graphs from parts a), b) and c) and for this problem.  Each graph should be clearly labeled with the value of time for which it was calculated.  Indicate with arrows on the graph from b) and c) the positions of the nodes and the antinodes in the sum wave.  

